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CRGH: AE17 / AT17                                          SXEMHFW: TELECOMMUNICATION SYSTEMS

 
NOTE: TKHUH DUH 9 QXHVWLRQV LQ DOO.

x      QXHVWLRQ 1 LV FRPSXOVRU\ DQG FDUULHV 20 PDUNV. AQVZHU WR Q. 1. PXVW EH ZULWWHQ LQ WKH VSDFH

SURYLGHG IRU LW LQ WKH DQVZHU ERRN VXSSOLHG DQG QRZKHUH HOVH.

x      OXW RI WKH UHPDLQLQJ EIGHT QXHVWLRQV DQVZHU DQ\ FIVE QXHVWLRQV. EDFK TXHVWLRQ FDUULHV 16

PDUNV.

x      AQ\ UHTXLUHG GDWD QRW H[SOLFLWO\ JLYHQ, PD\ EH VXLWDEO\ DVVXPHG DQG VWDWHG.
 

 

Q.1       CKRRVH WKH FRUUHFW RU EHVW DOWHUQDWLYH LQ WKH IROORZLQJ:                                         (2[10)
          

a.       IQ eOecWURQic VZiWchiQg V\VWeP Whe cRQWURO fXQcWiRQ iV SeUfRUPed b\ _________  
 

                   (A)  VZiWcheV                                       (B)  aPSOifieUV

(C)    cRPSXWeU                                     (D)  WUaQViVWRUV

       
b.      The OiQNV WhaW UXQ beWZeeQ VZiWchiQg V\VWePV aUe caOOed _________
 

(A)    VXbVcUibeU OiQeV                             (B)  WUXQNV

(C)  chaQQeOV                                       (D)  WUaQVPiVViRQ OiQeV

            

             c.   A WZR VWage QRQ-bORcNiQg QeWZRUN UeTXiUeV ________ VZiWchiQg eOePeQWV
                                      

(A)    2N                                               (B)  

(C)                                         (D)  
 

             d.   The ideaO GUade Rf SeUYice (GRS) iQ a WeOeShRQe V\VWeP iV   
 

(A)   0                                                  (B)  1

(C) 10                                                (D) 100
 

             e.   A fXOO\ cRQQecWed QeWZRUN Rf 8 QRdeV QeedV ________ OiQNV

                  

(A)     16                                                (B)  64

(C)  56                                                (D)  28
                                                         

                                                         

             f.    CRVW CaSaciW\ IQde[ CCI = ___________
 

(A)                         (B) 

(C) cRVW SeU chaQQeO                            (D) cRVW Rf VZiWchiQg eOePeQWV

 

             g.   SZiWchiQg CaSaciW\ SC = __________
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(A)     number of call per hour                

(B)  number of calls lost

(C)  number of switches in network     

(D)  number of simultaneous calls supported by the network

                                                                

             h.   H0 channel of ISDN supports _______________
 

(A)    384 kbps                                     (B)  1536 kbps

(C) 64 kbps                                        (D)  1920 kbps

 

             i.    One Erlang = ________
 

(A)   60 CCS                                       (B)  72 CCS

(C) 36 CCS                                        (D) 120 CCS
 

             j.    Most common form of modulation used in cellular communication is 
 

(A) FM                                               (B) AM
(C) Wide Band FM                             (D) Narrow Band FM

 

 

Answer an\ FIVE Questions out of EIGHT Questions.
Each question carries 16 marks.

 

  Q.2     a.   Compare and contrast single stage and multi stage networks.                             (8)
       

             b.   Discuss the three modes of centralized SPC. Compare its performance with distributed
SPC.                                                                    (8)

 
  Q.3     a.   Write notes on classification of switching systems.  Enumerate the advantages of electronic

switching systems.                                              (8)
 
             b.   Illustrate the working of Time Space (TS) Combination switch.                           (8)

 
  Q.4           Write short notes on the following:
 

(i)                  Transmission systems.  (4)
(ii)                Two wire to four wire conversion.                                              (4)
(iii)               Concentration and multiplexing.                                                  (4)

(iv)              BORSCHT                                                                               (4)          
          

             
  Q.5     a.   Explain the Delay System analysis.                                                                     

(8)                      
                                                                             

             b.   Derive an expression for Grade of Service in a ³Lost calls cleared  ́(LCC) System with finite
sources.                                                                    (8)
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  4.6     a.   DUaZ a VNeWch aQd e[SOaiQ Whe ceOOXOaU VWUXcWXUe fRU effecWiYe PRbiOe cRPPXQicaWiRQ.           
(8)       

 
             b.   DeVcUibe CDMA ceOOXOaU V\VWeP aQd e[SOaiQ chaQQeO eVWabOiVhPeQW.                    (8)

 
  4.7     a.   WhaW aUe Whe fibUe RSWic WUaQVPiVViRQ V\VWeP eOePeQWV?  GiYe a bUief deVcUiSWiRQ.                 (8)   

 
             b.   CRPSaUe Whe fROORZiQg

                   (i) SiQgOe PRde fibUeV aQd MXOWi PRde fibUeV.                                                          
                   (ii)SWeS IQde[ fibUe aQd LiQeaUO\ gUaded fibUeV.                                                    (8)

��4.8     a.   DeVcUibe Whe baVic ISDN aUchiWecWXUe.  (8)
 

             b.   WUiWe QRWe RQ daWa QeWZRUNV.                                                                             (8)
 

  4.9     a.   E[SOaiQ VWRUe aQd fRUZaUd WechQiTXe fRU daWa WUaQVPiVViRQ.                                  (8)
 

             b.   WUiWe QRWe RQ ATM QeWZRUN.                                                                             (8)          


